OoodA0OoOng
0000000020120 50 160

0000 (000 p23-27000)

0000000000 Ay, 4s,-++,4,00000Q=|J4,0000
k=1

P(B) = P(Ay)P(B|Ay)

00000000000PANB)=PAPMB) 000000000 A,BO0O0O0OOO
0ooo

000000 (@OooO0O000o0ooooooobooooooon)
() 00 A, BODDOO (i) P(B|A) = P(B)D (iil) P(A|B) = P(A)D
(iv) P(B|A) = P(B|A9)O (v) P(A|B) = P(A|B°)D

goon

(1]0000010030000020000000000 AD3000000O0O0OO
pO300d0oOoOoOobOoboOooboOobocoooo

(1) AD BOOOOOOOOOOO

(2) A0 COBO COOODOOOOOOOOOOOO

2] A0 BOODODODAO COOOOBO COOOOOOOOOOO A B,COOOODOO
Oo0O000o00D A0 puCcOoooOoooooooo

0000000 000 (3],4|000000000000000000O0O0O0O0OOO0O
0061900000000000000DOOOODOOOO(UODODDOOOODODODOO
O00000000ooooooooooon)

3] 0000000000 2000000003000000000000000000
0100000000000000000000000004000000000000
O000000100000000000200000000000000000000
0000

[4] 00 A, BOOOOOPA) =% P(B)=000000000

(1) P(AU B), (2) P(ANB°|AUB).



